SA-1 (CLASS-VII) 9/2015
SUBJECT : SOCIAL SCIENCE

Time : 3 hrs MM : 80

. General Instructions :

i)

ii)

iii)

iv)

v)

vi)

vii)

Read all the questions carefully and number the
answers according to the questions.

Multiple choice question is to be answered in the
answer sheet only.

Write all the answers in neat and legible
handwriting.

Attempt all the questions.

Write complete sentences for question numbers 2
and 3.

Attach the maps properly to the main sheet.
Questions carrying 3 marks should be answered
within 60-80 words.

viii) Questions carrying 5 marks should be answered

Ql.

within 80-100 words.
Each question has four options out of which only one
is correct. Choose the correct option and write it in
the answer sheet. - (6x1=6)
() Which ruler introduced the token coins in his
empire?
(a) Firoz Shah Tughlaq
(b) Ghiyasuddin Tughlaq
(c) Alauddin Khalji
(d Muhammad-bin-Tughlaq
(ii) was the founder of the Mughal dynasty
in India.

(1)



(a) Babur (b) Akbar
(¢c) Humayun C (d) Jahangir

. (iii) - ‘A political party whose MLA’s has won in more

Q2.

o

)

(vi)

- than half the number of constituencies in a state

is called-
(a) Majority Party (b) National Party

() - Opposition Party (d) - Minority Party

This Indian state has given 40% of its budget
money to the Panchayats to improve health
facilities. Which state is it?

(a) Karnataka (b) Andhra Pradesh
(c) Kerala (d) Tamil Nadu
“These rocks are made up of molten magma’.
Identify them.

(a) Igneous Rocks

(b) Sedimentary Rocks

(c) Metamorphic Rocks

. (d) All of these

k and are the two gases
which make up the bulk of atmosphere.
(a) Carbon dioxide and Nitrogen
(b) Hydrogen and Oxygen
(c) Nitrogen and Oxygen
(d) Carbon dioxide and Oxygen

Correct the incorrect statements : (6x1=6)

(a)

(b)

Sanskrit was the language of administration under
Delhi Sultans.
Akbar Nama was written by Amir Khusrau.

(2)



Q3.

Q4.
Q5.

Q6.
Q7.

Q8.
@s.

(¢) The Chief Minister is elected from a constituency
and he represent people of the constituency.

(d) Public health services is a chain of health centres
and hospitals run by the individuals.

(e) Loo is an example of permanent wind.

() Mantle is the outermost layer of the earth.

Answer the following questions in one sentence each:
(8x1=8)

(a) Define ‘Garrison Town'. '

(b) Who were known as bandagan?

(©) Which Mughal queen was given the title of Nur
Jahan?

(d) Write the full form of OPD.

(e) Who is the head of the state?

(ff Give two examples of Igneous rocks. _

(¢) Name the standard unit of measuring
temperature. :

Write a short note on first battle of Panipat. (3)

‘Many of the ideas of Muhammad Tughlaqwere sensible

and rational but they did not work well’. Briefly explain

any three ideas. (3)
What were the differences between the raids of Mahmud
of Ghazni and Muhammad Ghori? (3)

‘Health is a wider concept than illness’. Explain. (3)
Explain how a coalition government Is formed. (3)

What steps have been taken by the government to
support the working women and school going girls?
(3)

@10. Briefly explain the types of wind with examples. (3)

(3)



Q11.
Q12.
ol
Ql4.
Q1I5.

Ql6.
Q17.

Q18.

Describe the different processes involved in the
formation of landforms on the surface of earth. (€
Distinguish between Intrusive and Extrusive Igneous
Rocks. : s (3)
How was the administration of the Chola dynasty

‘organised? : (5)
Who were Muqtis? What steps were taken to ensure
that Mugqtis performed their duties? (1+4=5)
Explain Public: Health sérvices and Private lealth
services using suitable examples. (5)
Explain the formation of a delta. (5)
‘It is a layer which is above the troposphere’. Identify
the layer. Briefly explain its features. (1+4=5)

Attempt the following maps :
(a)  On the provided political map of India name and
mark the following : (1x4=4)
() Capital of Prithviraj Chauhan
(ii)  Town built by Chola dynasty
(i) New capital of Muhammad Tughlag
(iv) Capital of Babur
(b) On the provided political map of the world, name
and mark the following : (1xd=4)
(i) Largest lake
(i) The country with the deepes;t mine
(1) Highest waterfall in South America
(iv) - Freshwater lake in North America

4)



SA-1 (CLASS-VII) 9/2015
SUBJECT : COMPUTER SCIENCE
Time ; 2 hrs MM : 50
Q1. Choose the correct answer and write it in the answer
sheet : (6x1=6)
() Language that comﬁuter understands directly.
(a) French (b) English
(¢) Binary (d) Assembly
(i) Symbol used for absolute referencing.
@ § (b) &
() = (d +

(11)

(iv)

(v)

(v}

Option used to restrict the cell entries within
a specified range.

(a) Advanced filter (b) Pivot table

(¢) Data validation (d) Form

It converts the decimal format into its binary
equivalent.

(a) Pascal Adding Machine

(b) Digital Computer

(¢) Abacus

{d) Leibniz Calculator

It is a row in a database.
(a) File (b) Field
(c) Record (d) Column

A dialog box that provides as easy way to enter
or display a record.

(@) Form (b) Pivot table
(c) Filter (d) Field

(1)
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Q2.

Q3.

Q4.

Q5.

Write one word answer for the following statements:
(8. .=8)

(i) Name given to a column in a database.

(i) Base of binary number system.

(i) Feature that allows us to arrange the given data
according to a particular field either in ascending
or descending order.

(iv) Write the output given by the command =
MOD (20,5)

(v) Total number of digits used in octal number

" system.

(vi) Person who gave the concept of zero (0).

(vii) Function used to calculate subtotal values in
the database. ,

(viii). Button in a ‘Form’ to search a record with
specific value.

Convert the following decimal numbers to binary :

(i) 56 (i) 85 (2x3=6)
Convert the following binary numbers to decimal :
{1 s v (i) 100110 (2x3=6)

Answer the following questions :

(a) What are the rules to convert a binary number
to decimal number? (3)

(b) What is a function in Excel? Give one example.
(3)

(c) Define the term database? Give one example.
(3)

(d) How will you rename a sheet? (3)

. () What is the use of ‘Pivot table'? (2)

(2



(f)
- (g

What is range? 2)
How is advanced filter different from filter?(2)

@6. Study the following worksheet and answer the
questions below :

A B C D E
1 SALES INFORMATION
2 | Product JAN FEB MAR Total Sales
3 | Television 1000 2000 3000
4 | Radio 1500 2000 2500
5 | Refrigerator] 2000 2500 3000
6
7 | Lowest
8 | JAN Sales

(i)

(i)

(iif)

(iv)

(v)

Write the formula to calculate lowest JAN sales.

(1)
Write the formula to calculate total sales of
refrigerator in the month of JAN, FEB and MAR

in cell ES. : (1)
Write the cell address of the cell which contains-
(2)

(a) JAN sales of Television.
(b) MAR sales of Radio

When a formula written in cell B7 is dragged
down, the cell address do not change. which
type of referencing is used here? (1)

The shopkeeper wants to view only those records
where MAR sales are more than 2000. Which
MS-Excel feature, will he use? (1)

()
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a2. Stale True or False. [0 5X4=2]

(i) A dapper manis shabbily dressed, (TIF)
(i) An insolent man is a rude persor. (T/F)
(iii) To replenish your glass is to empty il (TIF)
(iv) A judicious person Is a rash by nature (TIF)

3. What are the following days observed for ? MX3=3)
(i cAUSUSt e st e )
(i) January 12 34 .
(i) May 1 IS AR (e,
[1X3=3)

Q4.Name the following .

(i) A book listing the names , addresses and contact numbers of telephone subscribers in a particular

-1 el SR SO 62
(i) A book for maintaining a daily record of the avents and the engagemanls

e —————

(iii) A collection of maps and charts jiasinglevolume L. oLt

Q5. Name the inventor : [1X3=3]
{) SteamEnging - - C
. (ii) Dynamite RS DY L L
(i) X Rays S el DS
Q6. Name these well known sporispersons. [1X3=3]

(i) He is an Olympic medalist and also a World Champion in Wrestling

A A T T
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Q7. Choose the correct option [0 5x8=4)
() Muscles are attached to the bones by means of
(a)Tendons - (b)Ligaments (¢)Skin
(if) The thinnest layer of Earth is called
(a)Core (b)Crust (c) Mantle
(i) The Ashes a test cricket series | Is played between
(a)India and Pakistan (b)Australia and England  (c)India and Australia
~ (iv)Copa America s a tournament involving the game of
(a) Foothall (b)Tennis (c)Cricket
(v)Brahourne Stadium is situated in
(a)Chennai (b)New Delhi (¢)Mumbai
(vi)Prophet Mohammad's hair is enshrined in the Hazralbal mosque in
(a)Agra (t)ammu and Kashmir — (c)Ajmer
(vii) Arabic is the principal language spoken in
(a) Australia (b)Algeria (c)Persian
(vii) Portugese is the principal language spoken in
(a)Switzerland (b)Dutch (c)Brazil
CURRENT AFFAIRS [1X5=9]

Q1. Name the former crickelers who were inducted into the BCCI's newly-consliluled cricket
advisory committee on 1 June 2015,

Q2. Who has been chosen for the Bharat Bharti literacy award 20147

Q3. The International Qlympic Committee (10C) has officially recognized which sport as an
Olympic sport recently?

(4. What did the Income Tax (IT) Department launch on 13 July 2015 7

e e ————

Q5. Maharashtra Cabinet approved which policy fo attract an investiment of 1 lakh crore
rupees on 2 June 20157



SA-1 (CLASS-VII) 9/2015 !
" SUBJECT : INTEGRATED SCIENCE
Time : 21 hrs ‘MM : 80
General Instructions :
i)  This paper consists of three section A, B and C.
{i) Marks are indicated against each question.
iijj Draw neat and well labelled diagrams wherever
required.
SECTION-A (PHYSICS)
Q1. Answer the following in one sentence each : (1x4=4)

(a) Concave mirror is used as a reflector in torches.
Give reason,

(b) Look at the following
figure of a simple
pendulum and label
positions X' and 'Y X 7 4

(©) “Quartz clock is better time measuring device than
sundial”. Justify the statement.

(d) Write any two English alphabets whose images look
exactly same when seen in a plane mirror.

Q2. Fill in the blanks : (1x4=4)
(@) A body which covers unequal distance in equal
intervals of time, issaidtobein_____ motion.

(b) An image formed by concave _____ cannot be

obtained on a screen.
(c) The metallic ball used in a simple pendulum is called

of the pendulum.
(d) Motion of the hammer of an electric bell is an example
of____ motion.
Q3. Give one technical term for the following : (1x2=2)

(a) Adevice used to measure the distance covered by a
vehicle in kilometer.

(1)



(b)  Time taken to complete one oscillation by a simple
pendulum, d
Q4. Answer briefly : (2x3=6)
(@)  Akshay was standing in front of a plane mirror. The
distance between his image and the mirror is 6,
(i)  What is the distance between him and the
mirror? : .
(i) If he moves 2m forward, then what will be
the distance between him and his image?
(b)  The speedometer of a car shows speed as 54km /hr.
Convert it into its basic unit. :
(c)  The graph given below represents the motion of three
cars on a highway : A
()  Which car is .. L
moving faster? E
() Which type of ©
motionis shown S
by car C? B
(i) Why should we s
follow traffic :
Fillies Time(h)
Q5. Answer the following questions (3x2=6)

(a)

Observe the following picture :

Ot

(i) Name lens ‘A’

(i) Write the nature of image formed by lens ‘A’
when object is placed near to the object.

(2)

e T —




Q6.

Ql.

02

AN

(iif) Can the given lens be used to magnify objects
placed at any distance? If yes, then specify
the position.

(D)  The odometer of car reads 356 km when the clozk
shows the time 9:00 AM. What is the distance moved
by the car, if at 11:00 AM the odometer reading has
changed to 426 km? Also calculate the speed of car
in km/hr. :

Answer the following questions : (1x5=5)

Rakesh had three different mirrors ‘A’, ‘B and 'C". In mirror

‘A, image produced {s always smaller than the object. In

mirror ‘B’ ithage produced is always of same size as that

of object. In mirror ‘C’, image produced is small and inverted
when it is kept far away from the object.

(a)  Identify mirrors ‘A", ‘B’ and ‘C".

(b)  Write the nature of image produced by mirrors ‘A’
‘B'and ‘'C. '

(¢)  Which mirror can be used to get a bright spot of
sun on a paper?

SECTION-B (CHEMISTRY)
Answer in one word or one sentence : (1x4=4)

(@)  Aplant ‘X can absorb waste water rapidly and release
puire water vapour to the atmosphere. Identify ‘X',

(b)  Name the bacterium which causes sorter's disease.

(c)  What type of sewage disposal system will be suitable
for an isolated cluster of 4 or 5 houses in an area

- Where there is no sewerage?

(d) Drawing silk from cocoon: "~ * separating

wool fibres on basis of texture : sorting,

Fill in the blanks - (1x4=4)
(a) Pashmina is the wool obtained from the undercoat
of the

b) is a byproduct of waste water treatment.

L

\.
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Q3.

Q4.

08,

(¢) Silkworm feeds on leaves.

(d)

is a novel, low water use toilet for s~fe

_ processing of human waste using earthworms. -3

_,Gi'_\;’t‘.“?. technical term for the following : (1x2=2)

(a)  The process of selecting parents for obtaining special
characters in their offspring.

(b): The network of pipes which carry waste water from
homes.

Answer briefly : [2x3¥6)
(a) Give reason for the following :

(1)
(i)
(b)

(1)
€

(i)

Shearing is preferably done in summer months.
Untreated human excreta is a health hazard.

‘X’ is a liquid containing suspended solids.

organic and inorganic impurities, nutrients

and disease causing bacteria.

(1) Identify X.

(2) Name an organic and an inorganic
impurity present in X',

Define clarified water.

Wool bearing animals have thick ceat of hair

on their bodies. Why?

‘C' and ‘D’ are two types of hair that form the

fleece of sheep. Name ‘C' and ‘D'

Answer the following questions : (3x2=6)

@ O

(1)

Write the function of aerobic¢ bacteria in the
treatment of waste water.

Arrange and rewrite the following steps of waste

- water treatment in the correct order :

(1) Sludge is scraped out and skimmer
removes the floating grease.

(2) Water is made to settle in a large tank
with a slope in the middle.

@




(8) Large objects like plastic bags are
removed by passing waste water through
bar screens,

(4" Sand, grit and pcbbles are made to setile
" by decreasing the speed of incoming
waste water.

(b)  Name and differentiate between the processes shown
in the figures given below :

(c) “A’is the covering of silk fibres that coompletely
covers the caterpillar. Name ‘A". What are silk fibres
made up of?

@6. Answer the following questions : (6x1=5)

(@ () Mrs. Mathur disposes off all the kitchen waste

into the drain. How would you educate her
about the effects of her negligence on the sewage
disposal. Write two correct ways of disposing
kitchen waste. (2)
()  Your mother goes to buy a woollen shawl from
the market. The shopkeeper takes out a small

(8)



Q1.

Q2.

strand of yarn from the shawl and burns it.
It smells of burning plastic. Will it be a gord
decision to buy the shawl? Give reason for

your answer. (2)
(i) Complete the table given below : (1)
S.No. | Name of the Indian Quality of Wool k"]
breed of Sheep
Marwari
2 Carpet Wool

SECTION-C (BIOLOGY)

Answer the following questions in one word or one sentence:

(a)

(b)

(c)

(d)

(1x4=4)
Define the unigue process carried out by green plants
in the presence of sunlight.
Ranjan tasted two samples A and B. Sample Awas
juice of crushed neem leaves while sample B was
lemon juice. What will be the taste detected by
different taste buds in the two samples respectively?

Red eyed frog : sticky pads on feet i
silver white mane.

Define aerobic respiration.

Fill in the blanks : (1x3=3)

(a)

(b)

(©)

The carbohydrates produced during photosynthesis
get converted into

Grass-eating animals swallow the grass and store
it in a part of the stomach called _ ;

is the day-to-day condition of the

© atmosphere at a place with respect to the

temperature, humidity. rainfall, etc.

@3. Give a technical term for the following : (1x2=2)

(@)

The mode of nutrition in which organisms make
food themselves from simple substances.

(6)
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(b)  Part of alimentary canal that earries swallowed food
to the stomach.

Q4. Answer briefly : (2x3=6)
(3 Redraw the given figure and label the following parts:
"_ ()  The largest gland in our body.
(i)  The organ where bile Jjuice gets stored.
(i)~ Write the function of part labelled ‘X',

(b) Explain the mechanism of trapping food by pitcher

plant.
(¢) What s the position of ribs and diaphragm during
() Inhalation (i) Exhalation
@5. Answer the following : (3x2=6)

(@) Heavy excercising often results in cramps due to
anaerobic respiration in muscle cells. Explain how
4 anaerobic respiration results in muscle cramps.
Write the word equation for anaerobic respiration
in muscle cells.

(b)  Draw the labelled diagram of a unicellular aquatie
organism which constantly changes its shape and
position. Name the projections which help this
organism in its movement and to capture food.

s

(7)



Q6. Answer the following : (5x1=5)
Elephant is a well-known animal of Indian troph,.:l
rainforest while polar bears and penguins are adapted to
polar regions. Write the importance of following adaptations
in these animals :

Sl. | Organism Adaptations Importance of
No. adaptation
1. | Elephant Large ears
Elephant Tusks
3. | Penguins Streamlined body
and webbed feet
4. | Plar leaf Long, curved
and sharp claws
5. | Plar bear Two thick layers
of fur

(8)



Roll No.: Date : Class: VII Section: 'Z,Oly ~2016
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SUBJECT : SCIENCE (MULTIPLE CHOICE QUESTIONS)

Time : 30 minutes MM: 15
General Instructions :

i
i)

iii)

iv)

v
Ql.

Q2.

Q3.

Q4.

Qs.

Q6.

Attempt all the questions.

There are 15 multiple choice questions in total. Only one of the options in
every question is correct. Put a (v) against the correct option.

Each question carries 1 mark.
Do not use white fluid on these sheets.
Use only pen to mark the answers.

What does X' represent in the given figure? 2
(@) Convex mirror X

(b) Concave mirror
() Convex lens q

(d) Concave lens

A\

If a pendulum moves from ‘A’ to ‘B’ then to ‘A’
and again to ‘B’, it will complete

(@) 1 oscillation

(b) 1% oscillations

(c) 2 oscillations

(d) 2% oscillations : A 0 8

Newton’s disc when rotated at a high speed appears in colour.

(@)  white - (b) red

(c) Dblue (d) black

If a pendulum takes 60 seconds to complete 20 oscillations, then its time period is
(a) 1 second (b) 2 seconds

(c) 3 seconds (d 4 seconds

While performing an experiment Disha was unable to capture the image formed by
a mirror on a screen. The image produced is

(a) real and inverted (b)  virtual and erect
(c) virtual and inverted (d) real and erect

In which of the following stages in the life cycle of a silkmoth does the organism eat
day and night and grow bigger in size?

(@) pupa (b) larva
() adult moth (d) egg

(B-1)



Q7. is used in disinfection of waste water.

(@) chlorine (b) fluorine

(c) nitrogen : (d oxygen
Q8. Which of the following is not a type of silk?

(@ mulberry (b) tassar

() mooga (d moth

Q9. Water polluted by various human activities cause a number of water borne diseases.
Which of the following is not a water borne disease?

(@) - cholera (b) typhoid
() asthma (d dysentery

Q10. Paheli wanted to buy a gift made of natural fibres. Which of the following would not
be the right gift for her to buy?

(@) woollen shawl (b) silk scarf

(c) nylon scarf (d) jute jacket
Q11. Identify the given figure and its function.

(a) stomata; capturing ipsects

(b) pitcher; capturing insects

(c) stomata; exchange of gases

(d) pitcher; exchange of gases
Q12. In which of the given figures, will rice show a colour change

@—;’_’W 4 E:ﬁo -
o ! Soludion o1 Weller
ol e, s<:>U.L‘fl.1~.n-\
TadAl | Dried riwe
h.dm'd e Q
d- Tl. 3 i
. \
(h (N i b ¥
@ (b) (i)
(c) (iti) (d (iv)

Q13. Given figure shows an organ of the buccal cavity. It helps in
(@) chewing food and mixing it with saliva.
() chewing and swallowing food.
() =~ mixing food with saliva and then swallowing it.
(d) chewing and tasting food.

(B-2)



fiqB)

(a) Fig. A - inhalation, chest cavity decreases in size
Fig. B - exhalation, chest cavity increases in size

(b) Fig. A - inhalation, chest cavity increases in size
Fig. B - exhalation, chest cavity decreases in size

()  Fig. A - exhalation, chest cavity increases in size
Fig. B - inhalation, chest cavity decreases in size

(d) TFig. A - exhalation, chest cavity decreases in size
Fig. B - inhalation, chest cavity increases in size. ]

Q15. Inhalation and exhalation are a part of breathing. Exhaled air contains -
(a) only carbondioxide (b) only oxygen
(c) only carbondioxide and oxygen (d) carbondioxide and a mixture of gases

(B-3)



SA-1 (CLASS-VII) 9/2015
SUBJECT ;: FRENCH

Time : 3 hrs MM : 80
General Instructions :

i
ii)
iii)

iv)

Al.

Attempt all the questions.

Write in neat and clear handwriting.

Write the answers in complete sentences.

Number the answers as given in the question paper.
SECTION-A [COMPREHENSION ECRITE]

Lisez :

Chris est un garcon blond et Amélia est une petite jolie'
fille qui est brune. Chris est le frére ainé d’ Amélia. Amélia
est la sceur cadette de Chris. Chris est le neveu de Mme.
Céline. I1a 19 ans. Amélia est sa niéce. Elle a cing ans.
Les deux se sont habillés élégamment. Chris porte un
pantalon noir, un T-shirt gris, un chapeau rouge et des
baskets blancs. Amélia porte une jolie robe rose avec des
bijoux. Elle aime porter des colliers, des bagues et des
bracelets en perles. Sa mére, Mme. Anne s’habille aussi
avec €légance. Elle achéte toujours des vétements trés
chers et de grandes marques comme Lacoste, Zara, Mango
etc. Elle aime faire des achats.

Al.l Répondeé aux questions : (1x2=2)
(i) = Décrivez Chris et Amélia.
(i) Quiest Anne?

Al.2 Dites Vrai ou Faux : (1x3=3)
()  Chris est un garcon brun.
(i) Anne ne s’habille pas élégamment.
(ii) Amélia aime porter des bijoux.

(1)



Al.3 Ecrivez du texte : (1x3=3)
(i) deuxcouleurs ¢
{Els et (b) BB c
(ii) deux vétements
(@) () ig ycinesil
(i) deux grandes marques francaises

() oy eaisp oo (b)

Lisez :

David est chez son cousin Jacques. Ils prennent leur petit -
déjeuner dans la salle 2 manger. La meére de Jacques est
la tante de David. Elle sert du thé ou du café, du lait, du
pain, du beurre et dela marmelade. Ils déjeunent & midi.
Ils mangent de la viande, des 1égumes, de la salade et un
dessert. Ils ne boivent pas de vin ou de biére. Les parents
de Jacques boivent du vin ou de la biére au diner. Les
enfants boivent de l'eau.

La famille commence le diner avec un potage tous les
Soirs.

A2.1 Répondez: (1x2=2)
(i Qui sert du thé ou du café?
(i) On prennent les deux garcons leur petit-

déjeuner?
A2.2 Trouvez dans le texte : [1x3=3)
() Deux choses quon mange avec le pain
(a) (b)
(i) Deux bolssons
[ o (b)
(iii) La chambre ot on déjeune ;
A2.3 Dites Vrai ou Faux: (Yax4=2)

() Jacques est chez David.

(2)




Bl.
B2.
B3.

B4.

Cl.

C2.

C3.

(i) Les deuxgarcons prennent le déjeuner a 1h30,
~ (i) Les parents de Jacques boivent du vin.

(iv) Ils commencent le diner avec un dessert.

SECTION-B [EXPRESSION ECRITE]
Ecrivez votre journée typique. (5)
Décrivez et dessinez un animal de votre choix. (5)
Décrivez et dessinez deux saisons frangaises de votre choix.
(5)
Faites des phrases : (1x5=5)
({) détester (i1) France
(i) salade (iv) chat
(v) train
SECTION-C [GRAMMAIRE]

Mettez les phrases 4 la forme interrogative : (5x1=5)
(i) Nous allons a Paris. (II) '
(i) Ils finissent leur travail. (I11)
(ii) Tu apprends la langue frangaise. (II)
(iv) ' 11 sort avec ses amis. ()
(v)] Vous avez un chien. (1)
Conjuguez les verbes : (5x1=5)
(i) Is (se réveiller) a 8h du matin.
()’ Nous___ (crire) des lettres.
(iif) Elle (dire) bonjour au professeur.
(lv) Je (prendre) du cafe,
v) Tu (finir) le devoir,
Choisissez la bonne réponse : ‘ (bx1=5)
(i Nousmangeons_________ pain (dela, du, des)
(i) La robe femme est trés longue. (de la,

du, des)
(iii) Ilva école 4 pied. (au, 41a,41)

()



(v}-"'C'est belle image. (un, une, des)

v J . je mange de la salade. (ai peur, ai faim,
ai soif)
C4. Quelle heure est-il? ' SRR e i =)
(i) 8h35 (i) 6h45
(iii) 11h30
C5. Complétez avec l'adverbe de quantité : (3x1=3)

(beaucoup de, un peu de, combien de, plus de ... etc.)
(i) cahiers achetez-vous?

(i) 11 n'aime pas les chocolats. Il mange

chocolats.
(iii) Manuela crayons que son frére.
C6. Mettez au négatif : ' (8x1=3)

(i) Je bois du café.
(i) Is vont au cinéma avec leur cousin.
(iii) - Ce sont des bonbons.

C7. Trouvez la question: (2x1=2)
(i) Oui, elles aiment voir les films.
() Si, jevais au marche.

C8. Mettez en ordre : (2x1=2)
()  chocolats/je/les/Si/déeteste
() chien/Mon/trés/est/meéchant.

C9. Chassez l'intrus: (2x1=2)
() lundi, mardi, mars, dimanche
() medecin, homme, ingénieur, professeur
SECTION-D [LA CULTURE ET LA CIVILISATION]

D1. Repondez aux questions : (5x1=5)
)  Quel est le huitiéme mois de I'année?

4)




D2,

Da.

(ii)

i)

'-('iv}

(v)

Aneesh, quel cours aime-t-il?

En quelle saison fait-il froid en Inde?
Qui est malade? Qu'est-ce qu'il a?
Quelle est la profession de Mme Lavigne?

Cochez la bonne réponse : (bx1=b)
i) Ilya mois dans une année.
(a) sept (b) douze
(c) huit
(ii) Chanel est une:
(a) voiture (b) couturier
(¢) fromage
[iii] Le président est élu pour
(@) bHans (b) 2ans
() 7ans
(iv) Lecoq symbolise: -
" (a) laliberté (b) larépublique
() lafierté du peuple frangais
(v) L'embléme national de la france est :
(a) ledrapeau frangais
(b) le braste de Marianne
(¢) I'hymne national
Dites Vrai ou Faux : (5x1=5)

(i)
(i)
(iif)
(iv)
v)

11 faut dire la vérité.

Le jour avant mercredi est mardi.

Pendant les vacances, Aneesh va en Angleterre.
Il est important de travailler en équipe,

On doit étre toujours pessimiste.

(5)
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SA-I (CLASS-VII) 9/2015
SUBJECT : MATHEMATICS

Time : 3 hrs MM : 80
General Instructions !

i)
ii)
iii)
iv)
v)

- vi)

Ql.
Q2.

Q3.
Q4.
Q5.

Q6.

Q7.
Q8.

Q9.

All questions are compulsory.

Read all que!tidhs very carefully.
Questions 1 to 10 carry 1 mark each.
Questions 11 to 18 carry 2 marks each.
Questions 19 to 28 carry 3 marks each.
Questions 29 to 34 carry 4 marks each.
Find : 0.75 x 1000

In the given figure if £1 = 80°, find £2.

Solve : [(-50) + 10] = 5
A rectangle is 7 cm long and 4 cm wide. Find its area.

In a triangle, two angles are 40° and 70°, find the third
angle. :

o (ﬂ)
Find the product: 73| a5

Find : (-1) x 2 x (-8) x (=1)

Check whether a triangle with the following sides is possible
or not : 3 cm, 3 cm and & cm.

; 2
Solve: =+ &

ekl -

(1)



Q10.

Q1ll.

Ql2.

Q13.

Ql4.

Q15.

-49 '
Reduce ~7-0* to the standard form.

S

(a) Writea pair of negative integers whose sum is =9.

(b) Write a pair of positive integers whose differenceis. -

B &
Find the supplement of the following angles :
() 126° (b) 75°

3 %, 1 5 :
Asha had 52 m of ribbon. She uses 26 m of ribbon..

Find the length of ribbon left with her?
Draw a number line and represent the following rational
numbers on it :
et 2
4

Find the area of quadﬂlateral ABCD where BD = 44 ci,
AF =CE=7cm.
- A

(a)

o

Q16. The lengths of two sides of a triangle are 6 cm and 8 cm.

Q18.

Between which two numbers can length of the third side

T fall? s
Q17.

If the area of the parallelogram is 94 cm? and height Is
6 cm, find its base.

1 1

Find four rational numbers between 'é and Z'

(2)



Q19. In the given figure. check whether [ is parallel to m or
w10t

20. Use the sign of >, < or = in the box to make the statement
true.

(@ 17-34+15 [ ] 28-5-17

® -7-2+5 [] 9-2-7
Q21. Arrange in descending order :

5.2 2
6. 573
Q22. Convert:

(a) 20gtokg
) 17cmtom

Q23. Apath 1.5 m wide is built along the border and inside a
square garden of side 25 m. Find area of the path.

Q24. Find the product, using suitable properties :
(a) -41x103
(b) 25x10+26x(-12)

Q25. In the given figure :

G
(@ What is the E
complement of
ZEOC? Y = N
(b) Write an angle
[y .

adjacent to
ZAOD?

(€) Write one pair of angles forming linear pair.

(3)



Q26. (a) Cost of 1 m of cloth is T 4.75. Find the cost of 20m
of cloth. AL,
(b) Find the perimeter of the given figure.

4 Om
5

) _%.-('_M E

- ;
Q27. Atreeis broken at a height of 16 m from the ground and .
- its top touches the ground at a distance of 12 m from the
base of the tree. Find the original height of the tree.
@28. The given figure shows two circles with the same centre.

The radius of the larger circle is 20 cm and the radius of
the smaller circle is 10 cm. Find :
(@) thearea of the larger circle.
(b) thearea of the smaller circle.
(€ the shaded area between the
t+wo circles. (Take T = 3.14) i
@29. (@ [n a quiz, +5 marks are awarded for every correct
answer and (-3) for every incorrect answer. Madhuri
answered 12 questions out of which only 7 answers
were correct and 5 answers were incorrect. Find
the total score of Madhuri.
(b) Thetemperature of a city was 26°C on Wednesday.
The temperature rose by 5°C on Thursday and fell
by 5°C cn Friday. What was the temperature of the
city on Friday?

1
Q30. Rajat’s monthly salary i8 7 08000. He spends 73 of his

1 1
salary on food, 3 on rent and z on education of poor

children. Find :
(@ how much money does he spend on each part?
(b) how much meney is still left with him?

(4)




(¢) writeone importance of education.

Gol. (a8) A gardener wants (o fence a circular garden of radius
49 m. Find the length of rope he needs to purchase
if he makes 3 rcunds of fence-: Also, find the cost.of - .

' - 22
rope, if it costs Z 5 per metre. (Taken = 7]

(b) Write the place value of 3 in 4.03.

Q32. In the given figure || m and p || g, find the measure of
angles a, b, cand d.

L ¥ -
e e
C}kloc::x o
\\/

Q33. Find xin the following :

A~

X

(@) Awe
B

@34. In the given figure, find the area of th

(=0

e shaded portion..




SA-1 (CLASS-VII) 9/2015
SUBJECT ; ENGLISH

Tume ! 3 hrs | LR L 80
General Instructions !

i)
ii)
iii)
iv)

Q1.

Q2.

Read the questions carefully.
Number the answers as given in the question paper.
Write the answers in a neat and clear handwriting.
Write the answers in complete sentences.

: | SECTION-A (READING)
Read the passage given below and answer the questions that follow : (7).
One hot afternoon, I was returning to the ice-cream depot, I work for. I was caught '
in a traffic jam. I was feeling hot and thirsty and decided to eat on ice-cream from
the back of my truck. As I was returning to my seat, relishing the cool touch and the
delicious taste of the ice-cream, I became conscious of the presence of four kids
looking towards me with expectation in their eyes. Feeling sorry for them, I gave an
ice-cream to each one of them. Soon 1 got surrounded by a large number of children.
Having entertained four of them. I found it impossible to refuse the others. Besides,
I was feeling genuinely sorry for them, as it was clear from their shabby and tattered
clothes that they hadn't often experienced the luxury of eating an ice-cream. By the
time, the traffic began to move, I had already finished four cartons. I decided to pay
for them myself rather than explaining to my boss.

As soon as I arrived at a depot, I was called to the manager's office and was asked

why I had been giving away the company stock. 1 was quite sure that neither my
explanation nor my decision to pay was going to save me from losing my job. But to
my surprise, my boss broadly smiled at me and said that the company had never
had such an effective advertising campaign for years. Parents had been calling to
thank the company.

fa) Why did the narrator decide to eat an ice-cream? (1)
() Why did he give an ice-cream each to the four kids? (1)

{¢) * Why did the narrator decide to pay for the ice-cream from his own pocket.(1)

(d When the narrator gave ice-creams to four kids, many more surrounded him.
How did he treat them and why? ' (2)

(e) There was a surprise awaiting the narrator at the end of the story. What was
the surprise? (1)

()  Pick out words from the passage which mean the same as follows : (2x14=1)
(i) toenjoy (i) old and in bad condition

Read the poem given below and answer the questions that follow : (6)

A conductor is a simple man,

He does his duty and gives tickets to everyone.

Sitting on his seat he uses his whistle,

Driver as well as passengers follow his signals.
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A small handy bag decorates his hands

Tickets, money and journey papers, sure he depends-
His khakhi dress and name plate specify his identity.
His dealings and vigilance verify his veracity.

His sweet etiquette make our journey easy

In odd and dreary time he remains very busy

Peak hours' crowd troubled him much

Calm and cool mind controls the rush

His adjusting nature and path guiding rules

Rejoice the travellers with his journey news.

He is contented with what he gets

May he serves us without any frets.

(a) Write two characteristics of a bus conductor, (2)
(b) What are his main possessions? (1)
(c) How does he make our journey easy? (1)
(d)  Quote the line from the given poem that tells us that the conductor is happy

and satisfied with his job. - : (1)

(e) Find the words from the poem which mean the same as follows :  (2x'4=1)

(i) the rules of polite behaviour in a society

(i) feel or show great joy

SECTION-B (WRITING)

You are a Press correspondent from “The Hindustan Times'. On your way to the
office, you witnessed the sudden fall of a Metro pillar on Barakhamba Road. Prepare
a report for the newspaper in about 80 words. (5)
You are Shekhar/Shikha, a resident of 646-A Block, Rani Bagh. Write a letter to
your younger brother who stays in a hostel, advising him to be more careful in

spending his pocket money. (5)

‘The York™ company is going to launch a new washing soap. Draft an appealing

advertisement for it. (4)
SECTION-C (GRAMMAR)

Rearrange the given words to make meaningful sentences : - : (2x1=2)
(@) received/team/warm/cricket/the/a/welcome/airport /the/at .
(b)  how/proposal/accept/can/such/a/I

Complete the given sentences by adding correct question tags (2x1=2)
(@)  You haven't learnt painting in any school,
(b)  This job is absolutely suitable for me,

+ Choose the correct nouns from the brackets and rewrite the sentences :  (4x%4=2)

(@)  Mrs. Mehta asked the porter (o carry her (luggage, luggages) to the train.

(b) The viewers appreciated the wonderful formation made by twenty (aircraft,
aircrafts) in the sky.
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(© Neera enjoyed eating two bowls of (porridge, porridges) in breakfast.

(d Icould enjoy the beautiful scenery because I was carrying a pair of (binocular, e

binoculars) with me.
Fill in the blanks with suitable relative pronouns : (2x1=2)
(a) We salute the soldiers guard our borders.
(b) He stayed at the best hotel he could find in the city.
Complete the given conversation with suitable pronouns : (4x%4=2)
Nazia : Whereis Tanya?
Sabia is ill. mother informed '~ yesterday.

‘Nazia : How sad! was so keen to go to picnic.

Fill in the blanks with suitable articles : (4x%%=2)

Dev went to nearby temple in morning. There he saw
impressive idol of Lord Shiva. He sat in front of it and offered flowers and
coconut.

Complete the sentences using the correct oxymorons : (4x%e=2)

(a) The honest confessed his crime. :

(b) Neha was leftall ____~ "~  at home as her parents had to go to attend a

marriage party.

(©) The spectators felt that the performance was terribly

(d The king rewarded the clever after the show.

Fill in the blanks with suitable prepositions : (6x%2=3)

A young man was sent jail for a petty theft. A priest saw him sitting
some criminals and felt sorry _ him. He asked him why he was

there. The young man said, “Father, no one loved or cared me. If someone

had stood me and patted me my back, I would not have been

here.

Change the given sentences from active to passive voice : (3x1=3)

(a) A timely warning prevented the accident.
(b) They have elected the new secretary of the club.
(¢ The loud noise of vehicles is disturbing the students.

SECTION-D (LITERATURE)
Read the extracts given below and answer the questions that follow :
(A) “When Haria comes next, he'll take me (3x1=3)

to Dilli for my eye operation.”

(a) Identify the speaker in the above lines.

(b) Where had Haria gone and why? :
() Why couldn't the speaker get her eyes operated in the \dllage itself?:

'(B) “Abutterfly, one summer morn (3x1=3)

Sat on a spray of blossoming thorn”™.
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(a) Where was the butterfly sitting in the morning?
(b) What was he doing there?
() Where did the butterfly see the caterpillar?

Answer the following questions in 30-40 words each : (2x2=4)
(a) Hamid and his friends were delighted to see a wonderful sight at Idgah, What
did they see there?

(b) Madhuli couldn’t suggest to take Amma to the new hospital. Why did she feel

hesitant and how did the other people react to it?

_Answer the following questions in 30-40 words each : (2x2=4)

(@) What lesson did the butterfly learn from the speech delivered by the caterpillar?

(b) Who was the visitor who entered Mr. Rowland's house? How did he get rid of
the butler?

Answer the given question in 80-100 words : (5)

Dr. Raman never believed that agreeable words could save lives but had to change

his opinion at the end of the story. Explain with reference to the story ‘The Doctor’s
Word',

OR
Although Hamid was a small boy, he depicted selfless love for his grandmother by
buying a useful gift for her. Elaborate with reference to the story Idgah’.
Answer-the given question in 30-40 words : . (@)

How did the little boy in the poem ‘Somebody's Mother' feel at’ter he helped the old
woman?
Answer the given question in 70-80 words : (4)

Why was the boy in the lesson ‘Seventeen Oranges’ forced to eat all the oranges?
What happened as a result?

OR
Moina's habit of asking too many questions helped her to gain knowledge and become
successful in life. Explain with reference to the lesson The Why-Why Girl™?
Answer the following question in 30-40 words : (3)

The Portuguese captain helped Robinson Crusoe at the time of crisis. How did he do
so?

Answer the following question in 80-100 words : (5)
Mention four things that Crusoe had to keep in mind while building his house.
OR

How did Robinson stitch clothes for himself when his old clothes began to drop to
pieces?
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